Math 2568, Quiz #13, Spring 2013 Name K E\/

Instructions: Show all work. You must use exact answers for all solutions

1. Diagonalize the matrix 4 = [2 10] through an appropriate similarity transformation. Be sure

to clearly state the similarity transformation matrix used. Use this information to calculate A
Show all work.
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2. Find the eigenvalues and eigenvectors of the matrix B = I_é (2)] Find a similarity

transformation for this matrix that will transform the matrix into a rotation matrix. Factor out
the appropriate scaling factor and give the angle of rotation
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